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BEERE

o 10 R ADIAEY, tH S DA 2 E 2 T,
FHSIE, METI9EA GDP EREIE, 4%
RE

o IRMILE K (modern economic growth):
— Bt BREEEHEFREE, F193 A GDP B
RERBARE, 198 A GDP KEZXFE CH
MIRS
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RAIEER R

1500 1700 1820 1900 2003
EE 400 527 1,257 4,001 29,037
S 754 2,130 1,838 3,424 21,479
HE 714 1,250 1,706 4,492 21,310
Bx 500 570 669 1,180 21,218
YN 1,100 1,100 1,117 1,785 19,150
(=) - - 550 560 17,284
s - - 600 545 4,392

B8{11: 1990 F =TT,
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BREENE
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BARE
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HEEES)
SR EBEES 5000 - -rrrrerre e g g N :
= 3000 -
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1000 ... PE&R ...

700 T o

300 L 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ]
1500 1600 1700 1820 1870 1913 1950 2003

B8{11: 1990 F =TT,
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BRARESD

o BBRAED (output) 252 A (inputs) B4
=T GDP 2R TE

o ELEIEMIEE, SHHENR ALK {H
(BEEREZA) PTEIER
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Er Il SHE}RA BEES HENER

o v) ()\65) (£) (k) EE (MPL)
15 30 10 4
18 33 1 4
20 36 12 4 1
21 39 13 4 0.5
21.5 42 14 4 -

o HER M 1ENFR3/NEF
o HEEMEEBEM



£48
RICEE R

8/30

BRARESD

4 EXEN
Py RREWL, kK REBEERFEE, h AIIKERAT
B (human capital):

y =f(k,(,h), (1)

o yME (flow), NEEEAREANERBEX
EME

o« BRENEARRBETEE, NEEL K KEKEE
BRI (capital inputs)

o @I, hKERADELXRA (human capital
inputs)
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RAREY yoar
19 [
17 F
15 [
o 12 1I3 14 15 / R IR
B ANEEE 2 EH)
MPL 3 iR, RAHZD
2 b, EL B2,
1 HENEREED

Il Il 1 1 1 1 N 3
0 1 12 13 14 15 B2 M E,
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Y BERIREEARSE:
Ay
MPL = —= > 0,
JAVA

SENEFRE SRR (decreasing marginal returns

of labor):
AMPL

Al

Oo



E4E > N =
RRATERNE éqzsl'% ZREE

11/30

T AEBEERARE:

Ay
MPK = =~ > o,
Ap > ©
ENZEFRESIRF (decreasing marginal returns
of capital):
AMPK
< 0o

Ak
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HERENEFES

AN

BRARESD

F=E = MPK

TENEIRZ Z

; IESR Yy, &=MN

a HiF AREHR

.............. MPK = Az/Ak 7o TEE—EIRE
b BEAXARAET, &

MPK = Ay/Ak EERNE] z 2B
EIFEEENES,

MPK
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BRARESD

fRE4 ENE (aggregate production function):
Y = F(K,L)o

ARFTH Y RKXRBSED, BHL2 GDP, K A&KR
SEEEARA, LAXRBSHBDRA. U LB
REANER Ho



miEAms Cobb-Douglas

14/30

BRARESD

Cobb-Douglas 54 E X
Y = AKPL'F, (2)

[ (BER beta) Z1B/)\1R1, KiRo. BHIE 2, &
B =o0.5,8Y=AVKL
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BRARESD

Cobb-Douglas: v = Ak#L6-9

14 A K L Ko-4 LO—o4)  MPK
50.00 5 10 10 2.51 3.98 1.04
51.94 5 11 10 2.61 3.08 1.84
53.78 5 12 10 2.70 3.98 1.75
55.53 5 13 10 2.79 3.98 1.67
57.20 5 14 10 2.87 3.98 1.60
58.80 5 15 10 2.05 3.98 -

o BOEEEBEE, ETEBESER

o EEMBIREN (constant returns to scale)
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25 8)4 & /] (labor productivity): FI98 T H5FETE]
&2 M D0EIE.
&2 Cobb-Douglas, 2 8)4 &= /173:

BEEEN

o yRRFBEEN
o k=K/LHBREN/FZENRALLZE (capital-labor
ratio)o



£48
RICEE R

17/30

BEEEN

SENEET]

30 e
A RREERER

Cobb-Douglas,
10 [ e i y = Akﬁo i[5
& A =10,
0 s w1 ow s owm W 6w [3=0.4o
k (K/L)
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w2006 /B,
o GDP R¥15%12,350,638 & JT (2001 FH18)
o FLEAO101MABA
o TERIRHEETHAWITTIE180.8/)\6F
o BENFENFIR 563.0 (7T//)\F)
o EMREBIET] L, 1/ TEXKE 90-1107T
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1500 --
1000 --
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X8 BxXx BB A8 AN =E NEX 52
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GDP GDP 1 GDP 1
Y="I THN H o N H

o [ RERFBERA, N RERMEAD, H KK TIEHE

o NR&EMAD, o REMEADIGRADZLER

e j = GDP/N R&EFIIE A GDP.

B, ¢ B H2BERRE/), NBEEENZF

198 A GDP BWEIELLAI, A i,
Ay Ay
vy ¥

)
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SEEEIRTIIFA GDP o

1981 1984 1987 1990 1993 1996 1999 2002 2005

MIRE 1981 F 2 BUEEFTRERFIR 100
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S EXER Cobb-Douglas, 8l

Y (kY
L \L)°

Rk, P s E HNERE
. EERMIE, A
o EASEPALLE K/L

BEEEN
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Y1900 (?E@ﬁ)

Y1960

5 7 10 18 K/L
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ELRE Sl L ot
0=, 26,068 7T
PEY, 4,0917T
30 - I
BBRBEES 20 - B
=3
EL T
2000 2000— 6000— 10000— 14000— 18000—- 22000— 26000— 30000- 34000- 38000
T 6000 10000 14000 18000 22000 26000 30000 34000 38000 =

e 1960F, 5198 A GDP 2B E 65 (BRAE(106)
e 2005, EHRHFEE 28 (A E148)
o BRIR: tHFRIR1T (2007)
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ki
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A o

SEBoFNRERE

EH EWH R Cobb-Douglas, y = Ak”, 81

Ay AA Ak

BEIEEEN 212F 2™,

o FIHMEBHNEER AK/K =1.25%

o ANOREER AL/L=131%

o A, Ak/k =1.25 —1.31% = —0.06%
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MRS S

s

A o

ERREFREE

o BIMEZFEIE, Ay/y = 0. B3R § = 0.4, 8l
AA/A = 0.4 x 0.06% = 0.024%

o BIRFERBRIIED:
HTEY)Go &, KSR, PER, BB HRFOE R EHA
=
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OENREENREIRIKB/6H, 8245t
ssmema 1910-42 28 AA/A = 2.048%.
o JAREHZ (law and order)
o IRIBEAIERE
o EFEER
o RILMIBHIE

s

A o
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o oIIT/N\EE: &8, BB, B8R, BEET K

e 1960TF, BEFIIFZ A GDP 2HEBRE 65 (I
RE106)

o 20055, ZHRBFEEE 28 (A E148)

e Why?
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on

B4 EXNER Cobb-Douglas,

S e

RIBES R AA/AXNBRSAFREET
(multifactor productivity) SE& &

o BNREBET: #% GDP (REIFER IS D

mEgst Y

(6)
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10.2%
O 10 - - [ e e
RIES
8. T8%. oo BEMRA
6.9% BAREZA
6 .- . ... .. NN ... . N ..., 549 -
N A e e 39% ..
RSt
o .. ... .. RN ... . N ... DN ...
0
1983--87 1988--92 1993--97 1998--2002 2003--04

e Young (1994): 1980 SE{XIPHILAR], IS ENRER
=S IR LB K 23810
o FETRR: 1980 FRIPEAICR, AA/ABNSER



